KOZEL-50 Extrusion
Cover LIGER-50 frosted
LED 2x 12"(30cm) K-30-1275 / 3000K

4 Inspirin
KLUS, Solutioﬁs

/

Polar diagram Cone diagram

105° 105°
E(0°) 639
00° 00° 0.50 1.5 E(CO) 557° 57
750 750 E(0°) 160
1.0 29 E(CO) 557 14
80
60° 60° E(0°) 71
15 44 E(CO) 557° 6.4
120
E(0°) 40
45° 160 45° 2.0 5.9 E(C0) 557° 3.6
200 E(0°) 26
25 73 E(CO) 557° 23
E(0°) 18
30° 15° o 15° 30° 50 88 E(CO) 557° 16
Distance [m] Cone diameter [m] llluminance [Ix]
cd/kim n=67% CO - C180 (Beam angle: 111.4°)
C0-C180 = C90-C270
UGR diagram
Glare evaluation according to UGR
p Ceiling 70 |70 |50 |50 |30 |70 |70 |50 |50 | 30
o Walls 50 |30 |50 |30 |30 |50 |30 |50 |30 |30
o] Floor 20 20 20 20 20 20 20 20 20 20
Room size Viewing direction at right angles Viewing direction parallel
X Y to lamp axis to lamp axis
2H 2H |19.7 211 20.0 21.3 21.6 {202 216 205 21.8 22.0

3H|21.2 224 215 226 229 |21.8 23.0 221 232 235
4H|21.7 229 221 231 234 (224 235 227 23.8 241
6H|22.1 231 224 234 23.8 |22.8 23.9 23.2 242 245
8H|22.2 232 226 235 238|229 239 233 243 246
12H (222 232 226 235 239 |23.0 240 234 243 246

4H 2H |20.4 216 20.8 21.8 221 |20.8 219 211 222 225
3H|22.0 23.0 224 233 237|225 235 229 238 242
4H|22.7 235 231 239 243 |232 241 236 245 248
6H|23.2 239 23.6 243 24.7 |23.8 245 242 249 253
8H|23.3 24.0 23.7 244 248|239 246 244 250 255
12H|234 240 23.8 24.4 249 (241 247 245 251 255

8H 4H |23.0 23.7 234 240 245 235 242 239 245 250
6H|23.5 241 24.0 246 250 |241 247 246 251 256
8H|23.8 243 242 247 252|243 248 248 253 2538
12H|23.9 243 244 248 253 |245 249 250 254 259
n2H 4H |23.0 236 234 240 245|235 241 239 245 249
6H|23.6 241 241 246 25.0 241 246 246 251 256
8H|23.8 243 243 247 252|244 248 249 253 258

Variation of the observer position for the luminaire distances S

S=1.0H +0.1 / -0.1 +0.1 / -0.1

S=1.5H +0.2 / -04 +0.2 / -0.3

S=2.0H +0.5 / -0.8 +0.5 / -0.6
Standard table BKO05 BK06
Correction summand 4.9 5.9

Corrected glare indices referring to 682Im Total luminous flux

The UGR values are calculated in acc. with CIE Publ. 117. Spacing-
to-Height-Ratio = 0.25




